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WARM UP GRADE 8 2023

% Quiz Thursday

1) A three wheeler is on sale for 20% off the regular price of $1500. What is the
—— ——

sale price? could | take it a step further...what is the price with tax? _——'--%‘—'”
Save= 207. of Cost Tox = S‘x Cosi
=% 320 = %0 add o
<= Cos-\- —Saving dnx
Salefric 3 150D — 360 cos*l—‘wnoo.\_mo = 13

-

2)A backpackils%r?gale for 60% off. If the amount discounted is $16.14, what
is the regular price?

Sove = 76 = Reg The “3““"?“"
— . of 4+ back pxe

Il?.lq = 0.bo xn

~0.60 0.0

(;T:l‘oﬁO = f]j

3) The population of a village was 26 000 people in the year 2019. Due to very few
job opportunities{T5% of the people move away in 2020. What was the

population at:he end of 20207 ?';g-': M— Moye
Move = \% /o of pesple = 26000 - 39%
T 0.5 X 26%00 = 23 (0D
Move — 3900

] )\{, new Pbpu\Q‘\".bﬁ Ty o2 Joo.
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WARM UP GRADE 8
% Quiz

1) A three wheeler is on sale for 20% off the regular price of $1500. What is the
sale price? could | take it a step further...what is the price with tax?

2) A backpack is on sale for 60% off. If the amount discounted is $16.14, what
is the regular price?

3) The population of a village was 26 000 people in the year 2019. Due to very few
job opportunities 15% of the people move away in 2020. In 2021 the population
decreased by 5% that of 2020, what was the population at the end of 20217
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WARM UP GRADE 8 @

1) A three wheeler is on sale for 20% off the regular price of $1500. What is the

Sa|e‘ rice? could | take it a step further...what,is the price with tax?
\J . °
ve= 207/ of Piice \esVrice

:0.20 Y 1500 = Peice .__.‘.S“’.‘,é
=9360 =4 1500 Y200

axX = 197 of Price

= 0‘45 X 12200
Sked) 120
st with4ny = Pricet -I-aA

=%1200 +%1g0

="13%0
2) A backpack is on sale for 60% off. If the amount discounted is $16.14, what

is the regular price? A2 )
|
|

40’4 ‘(Zc
60./00"‘?\3 =‘g NoJ‘[ '6?"/.
oo n = lo.1Y
abos = L
n =§ 2690
imilar to quiz question
The population of a village was 26 000 people in the year 2011. Due to very few

job opportunities 15% of the people move away in 2012. What was the
E——
population at the end of 20127

Move away = ":OL 7o of pevple
= 0.45 X 26000
Moveansy = 3900

New Populakion= 26000 -2900
= 21 100

The new populabenfor 2012 35 2.2 100.
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AW Discavnb 208, & 2599

0.2x 2999
\9
W Cole Ocive = -Dise
3\ 1€ - Qace — 18
=199
A\ HST s o5 1A%
0.5 x 199
\b. 30
/\D‘\jd'x uﬁt = (\)f.\cﬁ "\' ":09‘-
7189 Fese
a9
o) Dise 449, sF 120
0.4S6% 120
SH
: = Qe -
Gle Ve o Q?ch--é"" e
= bb
s 15°% &5 bb
heT 0.15 rbb
AQ0

A, = Price ¥
istel Cogb = b\ﬁ_ q.tﬂl

- “H.9o
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260
w

Ci\ooSe Q 35% o-g"g

Dise 3% & 2560 Sle e = 25—7.50
0;73225 = 1790

dnoage,g $p Sor 2 DVD
(s 920 e

Ohpoce & S o betber deody 1t costs less.

L bt & Dec = 19.9€ 1139
= .44

% Ve = Qh'){ & Dec v 1ot%

B Sle Prce 11.29

— s 1. 3%
“ST: 0%% 1} .39

_ 1.1
TobdCoct = 139 101

4' 2. 10
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Q.Y 3= f15

Pt Disc  2S% o~ 30
.25 K30

Sole fice. 20 -1.60
22 $d

MVee 209 52
0.28x 22.40
T, 63

Nep Sle 12.60 - 5.3

Rice 1b.%7
So Np L. T-Skirk ic nb S6% b—‘x:)
1§ 1t was SO% J}g, £ Lould be $1&
hob 4627

7. Sole 268 & . Sole Uice < $235G¢
Disc A0 & )7 NI req price

0.2n
Gele Ofice = D\'Eﬂ - Disc (%Je' ="~a D
:_\h - 0.2n rh_,y g
=36%
259, = 0.%n &;Pﬂ
5% _ 08
405 = hn
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M s Dise Dise = f.1ax /AT
="' \a.%

Sole e = 259G —1450

= \\o us
ber 1% & 113,09
D.1g % 113.69
SA'?/ 16 Ab
: 113,09 & 163
/\:pt\\éé-‘ws I20.05

Qree w_{%\rw*a Tuxes '93.09

1k s bebter o ge:‘: o. \3Y
dscowit Hon it 1s b hove no
‘\=07(es S Lecaus-a wow Pﬁg ‘l:/s-e. toxes

on o \b\)"\" a&mow;\:.

% of rea eMRe = omt sFdite

15, 3% & req pree s 23,38
O,gbh 5%133
032 0.33

n= 36,
“The \-30\44* phee o< <b.

b Sde Orice  Rb— 28.3%
5. 62

yst = & 51-62

£ LY

Tobd £7.62 + %
cot

6336
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b. Dise 2%, o4 15 Cuclsnr )

0.3x 1%
27. 60
\ -6-22.5D
Soke Ve 20D
HsT \s % oy $2.50
O\a x 5a.50
- ¥¢
Tt Cosl 5250+ 7-9%
&b 1€
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HsT 1% . 6
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Vs

e A
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N Swe B |
Vs 154 o5 45.64 cf Re; - Diso

0. 15 x 45 5T — 4ER b
b. 39 =30
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10



Untitled31866.notebook April 04, 2023

Homework pg. 263 # 4-12 ~J

Oont
Do 1\

5% Dise, Hmt of Dsc MAQ‘
3 / Nj\ﬂl: ‘< rea ’PP\CQ
55'%&3%?:- s At of Djs=

35% ég n < Ll'Q
0.35 = 4)

A351+ B%~
35

035
h< |20

11
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